



Available online at <http://scik.org>
J. Math. Comput. Sci. 2022, 12:20
<https://doi.org/10.28919/jmcs/6883>
ISSN: 1927-5307

SOME FUZZY SUBSETS VIA OPERATION

G. DURGADEVI, P. GOMATHI SUNDARI, N. RAJESH*

Department of Mathematics, Rajah Serfoji Government College (Affiliated to Bharathidasan University),
Thanjavur-613005, Tamilnadu, India

Copyright © 2022 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we introduce and study some types of fuzzy subsets via operation on smooth fuzzy topological space in Söstak sense. Also, many interesting properties of this notions are presented.

Keywords: smooth fuzzy topology; fuzzy operation-open set.

2010 AMS Subject Classification: 54A40.

1. INTRODUCTION

The notion of fuzzy set was introduced by L.A. Zadeh in the year 1965. Since than it has been applied in almost all the branches of science and technology, where set theory and mathematical logic play an important role. This newly introduced concept opened lot of scope and directions for investigations in many ways in all the branches for research. Recently fuzzy set theory has been applied and fuzzy topological spaces have been studied by Kubiak [7] and Söstak [10] introduced the notion of (L-)fuzzy topological space as a generalization of L-topological spaces (originally called (L-)fuzzy topological spaces by Chang [1] and Goguen [6]). In this paper, we introduce and study some types of fuzzy subsets on smooth fuzzy topological space in Söstak sense. Also, many interesting properties of this notions are presented.

*Corresponding author

E-mail address: nrajesh_topology@yahoo.co.in

Received October 14, 2021

2. PRELIMINARIES

Definition 2.1. A fuzzy point x_t in X is a fuzzy set taking value $t \in I_0$ at x and zero elsewhere, $x_t \in \lambda$ if and only if $t \leq \lambda(x)$. A fuzzy set λ is quasi-coincident with a fuzzy set μ , denoted by $\lambda q\mu$, if there exists $x \in X$ such that $\lambda(x) + \mu(x) > 1$. Otherwise $\lambda \bar{q}\mu$.

Definition 2.2. [7, 10] A function $\tau : I^X \rightarrow I$ is called a smooth fuzzy topology on X if it satisfies the following conditions:

- (1) $\tau(\bar{0}) = \tau(\bar{1}) = 1$;
- (2) $\tau(\mu_1 \wedge \mu_2) \geq \tau(\mu_1) \wedge \tau(\mu_2)$ for any $\mu_1, \mu_2 \in I^X$.
- (3) $\tau(\bigvee_{j \in \Gamma} \mu_j) \geq \bigvee_{j \in \Gamma} \tau(\mu_j)$ for any $\{\mu_j\}_{j \in \Gamma} \in I^X$.

The pair (X, τ) is called a smooth fuzzy topological space.

A fuzzy point in X with support $x \in X$ and the value $\alpha (0 < \alpha \leq 1)$ is denoted by x_α .

Definition 2.3. [9] A fuzzy set $\lambda \in I^X$ is said to be q -coincident with a fuzzy set μ , denoted by $\lambda q\mu$, if there exists $x \in X$ such that $\lambda(x) + \mu(x) > 1$. It is known that $\lambda \leq \mu$ if and only if λ and $1 - \mu$ are not q -coincident, denoted by $\lambda \bar{q}(1 - \mu)$.

Definition 2.4. [2] A fuzzy set λ is said to be r -fuzzy Q -neighbourhood of x_p if $\tau(\lambda) \geq r$ such that $x_p q\lambda$. We will denote the set of all r -fuzzy open Q -neighbourhood of x_p by $\mathcal{Q}(x_p, r)$.

Definition 2.5. [3] Let (X, τ) be a smooth fuzzy topological space. Then $\gamma : \tau \rightarrow \tau_r$ be an operation such that $\lambda^\gamma = \wedge \mu$, where $\lambda \leq \mu$ for $\tau(\mu) \geq r$, $\tau(\lambda) \geq r$ and $r \in I_0$.

Definition 2.6. [3] A smooth topological space (X, τ) with an operation γ is said to be a smooth fuzzy operation-topological space and is denoted by (X, τ, γ) .

Definition 2.7. [3] Let (X, τ, γ) be a smooth fuzzy operation-topological space. For $\delta \in I^X$ and $r \in I_0$, δ is called r -fuzzy γ -open if for each $\alpha \in I^X$ with $\alpha \leq \delta$ there exists an r -fuzzy open set $\lambda \in I^X$ such that $\alpha \leq \lambda$ and $\lambda^\gamma \leq \delta$. The complement of an r -fuzzy γ -open set is called an r -fuzzy γ -closed.

Definition 2.8. [3] Let (X, τ, γ) be a smooth fuzzy operation-topological space. For any $\lambda \in I^X$, the r -fuzzy γ -interior of λ is defined by, $\gamma\text{-}I_\tau(\lambda, r) = \bigvee \{\mu : \mu \leq \lambda, \mu \text{ is } r\text{-fuzzy } \gamma\text{-open}\}$.

Definition 2.9. [3] Let (X, τ, γ) be a smooth fuzzy operation-topological space. For any $\lambda \in I^X$, the r -fuzzy γ -closure of λ is defined by, $\gamma\text{-}C_\tau(\lambda, r) = \bigwedge \{ \mu : \mu \geq \lambda, \mu \text{ is } r\text{-fuzzy } \gamma\text{-closed} \}$.

Theorem 2.10. Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda, \mu \in I^X$, then the following holds:

- (1) $\gamma\text{-}I_\tau(\lambda, r) < \lambda < \gamma\text{-}C_\tau(\lambda, r)$,
- (2) $\lambda < \mu$ implies $\gamma\text{-}I_\tau(\lambda, r) < \gamma\text{-}C_\tau(\mu, r)$,
- (3) $\gamma\text{-}I_\tau(\gamma\text{-}I_\tau(\lambda, r), r) = \gamma\text{-}I_\tau(\lambda, r)$,
- (4) $\gamma\text{-}C_\tau(\gamma\text{-}C_\tau(\lambda, r), r) = \gamma\text{-}C_\tau(\lambda, r)$,
- (5) $\gamma\text{-}I_\tau(\bar{1} - \lambda, r) = \bar{1} - \gamma\text{-}C_\tau(\lambda, r)$,
- (6) $\gamma\text{-}C_\tau(\bar{1} - \lambda, r) = \bar{1} - \gamma\text{-}I_\tau(\lambda, r)$.

3. SOME FUZZY SUBSETS VIA OPERATION

Throughout this section X be a nonempty set and $r \in (0, 1] = I_0$.

Proposition 3.1. Let (X, τ, γ) be a smooth fuzzy operation-topological space. Then $\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r), r) = \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$ and $\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r), r), r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r)$.

Proof. Let $\lambda \in I^X$. We have $\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r) \leq \gamma\text{-}C_\tau(\lambda, r)$. Then $\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r) \leq \gamma\text{-}C_\tau(\lambda, r)$ and hence $\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r), r) \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$. On the other hand $\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r)$. Therefore, $\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r) \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r), r)$. Hence $\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r), r) = \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$. \square

Definition 3.2. Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda \in I^X$. Then

- (1) $\lambda \in ro(\tau, r)$ if $\lambda = \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$ [4].
- (2) $\lambda \in rc(\tau, r)$ if $\lambda = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r)$ [4].
- (3) $\lambda \in \alpha(\tau, r)$ if $\lambda \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r), r)$.
- (4) $\lambda \in \sigma(\tau, r)$ if $\lambda \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r)$.
- (5) $\lambda \in \pi(\tau, r)$ if $\lambda \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$.
- (6) $\lambda \in \rho(\tau, r)$ if $\lambda \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r) \vee \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r)$.

(7) $\lambda \in \beta(\tau, r)$ if $\lambda \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r)$.

Remark 3.3. Let (X, τ, γ) be a smooth fuzzy operation-topological space, we have $ro(\tau, r) \leq \omega(r) \leq \alpha(\tau, r) \leq \sigma(\tau, r) \leq \rho(\tau, r) \leq \beta(\tau, r)$ and $\alpha(\tau, r) \leq \pi(\tau, r) \leq \rho(\tau, r)$.

Theorem 3.4. Arbitrary union of any members of $\pi(\tau, r)$ (resp. $\sigma(\tau, r)$, $\alpha(\tau, r)$, $\rho(\tau, r)$, $\beta(\tau, r)$) is $\pi(\tau, r)$ (resp. $\sigma(\tau, r)$, $\alpha(\tau, r)$, $\rho(\tau, r)$, $\beta(\tau, r)$).

Proof. We will give the proof for the case of $\pi(\tau, r)$, the other cases are similar. Let $\{\lambda_i : i \in \Delta\} \in \pi(\tau, r)$. Then for all $i \in \Delta$, $\lambda_i \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda_i, r), r)$. Then $\bigvee_{i \in \Delta} \lambda_i \leq \bigvee_{i \in \Delta} \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda_i, r), r) \leq \gamma\text{-}I_\tau(\bigvee_{i \in \Delta} \gamma\text{-}C_\tau(\lambda_i, r), r) \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\bigvee_{i \in \Delta} \lambda_i, r), r)$. Hence $\bigvee_{i \in \Delta} \lambda_i \in \pi(\tau, r)$. The rest of the proof is similar. \square

Remark 3.5. Intersection of any two members of $\pi(\tau, r)$ (resp. $\sigma(\tau, r)$, $\alpha(\tau, r)$, $\rho(\tau, r)$, $\beta(\tau, r)$) is not in $\pi(\tau, r)$ (resp. $\sigma(\tau, r)$, $\alpha(\tau, r)$, $\rho(\tau, r)$, $\beta(\tau, r)$).

Theorem 3.6. Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda \in I^X$, $\lambda \in ro(\tau, r)$ if, and only if $\lambda \in \alpha(\tau, r)$ and $\bar{1} - \lambda \in \beta(\tau, r)$.

Proof. Let $\lambda \in ro(\tau, r)$. We have $\lambda = \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$. By Theorem 2.10, $\gamma\text{-}I_\tau(\lambda, r) = \gamma\text{-}I_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r) = \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r) = \lambda$. Then $\lambda = \gamma\text{-}I_\tau(\lambda, r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r)$. So $\lambda = \gamma\text{-}I_\tau(\lambda, r) = \gamma\text{-}I_\tau(\gamma\text{-}I_\tau(\lambda, r), r) \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r), r)$. Thus, $\lambda \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r), r)$ and hence $\lambda \in \alpha(\tau, r)$. On the other hand, since $\lambda = \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$, then $\bar{1} - \lambda = 1 - \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$. By Theorem 2.10 (5) and (6), we have $\bar{1} - \lambda = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(1 - \lambda, r), r)$ and $\gamma\text{-}C_\tau(\bar{1} - \lambda, r) - \gamma\text{-}C_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\bar{1} - \lambda, r), r), r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\bar{1} - \lambda, r), r) = \bar{1} - \lambda$. Moreover, $\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\bar{1} - \lambda, r), r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\bar{1} - \lambda, r), r), r)$. Then $\bar{1} - \lambda = \gamma\text{-}C_\tau(\bar{1} - \lambda, r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\bar{1} - \lambda, r), r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\bar{1} - \lambda, r), r), r)$. Thus, $\bar{1} - \lambda \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\bar{1} - \lambda, r), r), r)$ and hence $\bar{1} - \lambda \in \beta(\tau, r)$. Conversely, let $\lambda \in \alpha(\tau, r)$ and $\bar{1} - \lambda \in \beta(\tau, r)$. We have $\lambda \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r), r)$ and $\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r), r) \leq \lambda$. Thus, $\lambda = \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r), r)$ and hence, $\lambda \in ro(\tau, r)$ by Proposition 3.1. \square

Theorem 3.7. Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda \in I^X$, $\lambda \in ro(\tau, r)$ if, and only if $\lambda \in \pi(\tau, r)$ and $\bar{1} - \lambda \in \sigma(\tau, r)$.

Proof. Let $\lambda \in \pi(\tau, r)$ and $\bar{1} - \lambda \in \sigma(\tau, r)$. Then $\lambda \leq \gamma-I_\tau(\gamma-C_\tau(\lambda, r), r)$, $\gamma-I_\tau(\gamma-C_\tau(\lambda, r), r) \leq \lambda$. Thus $\lambda = \gamma-I_\tau(\gamma-C_\tau(\lambda, r), r)$ and hence $\lambda \in ro(\tau, r)$. The converse follows from the fact that $\lambda = \gamma-I_\tau(\gamma-C_\tau(\lambda, r), r)$. \square

Theorem 3.8. *Let (X, τ, γ) be a smooth fuzzy operation-topological space and $A \in I^X$. If $\lambda \in \pi(\tau, r)$, then there exists a $\mu \in ro(\tau, r)$ such that $\lambda \leq \mu$ and $\gamma-C_\tau(\lambda, r) = \gamma-C_\tau(\mu, r)$.*

Proof. If $\lambda \in \pi(\tau, r)$, then $\lambda \leq \gamma-I_\tau(\gamma-C_\tau(\lambda, r), r)$. If we take $\mu = \gamma-I_\tau(\gamma-C_\tau(\lambda, r), r)$, then $\mu \in ro(\tau, r)$ and also $\lambda \leq \mu$ and $\gamma-C_\tau(\lambda, r) = \gamma-C_\tau(\mu, r)$. \square

Definition 3.9. *Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda \in I^X$. Then λ is called r -fuzzy γ -dense if $\gamma-C_\tau(\lambda, r) = \bar{1}$.*

Theorem 3.10. *Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda, \mu \in I^X$. Then we have the following*

- (1) $\gamma-I_\tau(\lambda \wedge \mu, r) \leq \gamma-I_\tau(\lambda, r) \wedge \gamma-I_\tau(\mu, r)$.
- (2) $\gamma-I_\tau(\lambda \vee \mu, r) \geq \gamma-I_\tau(\lambda, r) \wedge \gamma-I_\tau(\mu, r)$.
- (3) $\gamma-C_\tau(\lambda, r) \vee \gamma-C_\tau(\mu, r) \leq \gamma-C_\tau(\lambda \vee \mu, r)$.
- (4) $\gamma-C_\tau(\lambda, r) \wedge \gamma-C_\tau(\mu, r) \geq \gamma-C_\tau(\lambda \vee \mu, r)$.

Remark 3.11. *Let (X, τ, γ) be a smooth fuzzy operation-topological space. For any $\lambda, \mu \in I^X$, $\gamma-I_\tau(\lambda \wedge \mu, r) = \gamma-I_\tau(\lambda, r) \wedge \gamma-I_\tau(\mu, r)$ and $\gamma-C_\tau(\lambda, r) \vee \gamma-C_\tau(\mu, r) = \gamma-C_\tau(\lambda \vee \mu, r)$ are not true in general.*

Theorem 3.12. *Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda, \mu, \delta \in I^X$. If $\lambda \in \pi(\tau, r)$, then $\lambda = \mu \wedge \delta$, where $\mu \in ro(\tau, r)$ and δ is an r -fuzzy γ -dense set.*

Proof. Let $\lambda \in \pi(\tau, r)$. By Theorem 3.8, there exists a $\mu \in ro(\tau, r)$ such that $\lambda \leq \mu$ and $\gamma-C_\tau(\lambda, r) = \gamma-C_\tau(\mu, r)$. If we take $\delta = \lambda \vee (\bar{1} - \mu)$, then by Theorem 3.10, we have $\bar{1} \leq \gamma-C_\tau(\mu, r) \vee \gamma-C_\tau(\bar{1} - \mu, r) = \gamma-C_\tau(\lambda, r) \vee \gamma-C_\tau(\bar{1} - \mu, r) \leq \gamma-C_\tau(\lambda \vee (\bar{1} - \mu), r) = \gamma-C_\tau(\delta, r)$. Thus, δ is an r -fuzzy γ -dense set and hence $\lambda = \mu \wedge \delta$. \square

Theorem 3.13. *Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda \in I^X$. If λ is r -fuzzy γ -open and r -fuzzy γ -closed, then $\lambda \in \alpha(\tau, r)$ and $\bar{1} - \lambda \in \pi(\tau, r)$.*

Proof. Let λ be an r -fuzzy γ -open and r -fuzzy γ -closed set. By Proposition 3.1, $\lambda = \gamma-I_\tau(\lambda, r)$ and $\lambda = \gamma-C_\tau(\lambda, r)$. We have $\lambda = \gamma-I_\tau(\lambda, r) \leq \gamma-C_\tau(\gamma-I_\tau(\lambda, r), r)$. Then $\lambda = \gamma-I_\tau(\lambda, r) = \gamma-I_\tau(\gamma-I_\tau(\lambda, r), r) \leq \gamma-I_\tau(\gamma-C_\tau(\gamma-I_\tau(\lambda, r), r), r)$. It follows that $\lambda \leq \gamma-I_\tau(\gamma-C_\tau(\gamma-I_\tau(\lambda, r), r), r)$ and hence, $\lambda \in \alpha(\tau, r)$. On the other hand, since $\lambda = \gamma-I_\tau(\lambda, r)$ and $\lambda = \gamma-C_\tau(\lambda, r)$, then $\bar{1} - \lambda = 1 - \gamma-I_\tau(\lambda, r) = \gamma-C_\tau(\bar{1} - \lambda, r)$ and $\bar{1} - \lambda = 1 - \gamma-C_\tau(\lambda, r) = \gamma-I_\tau(\bar{1} - \lambda, r)$. This implies $\bar{1} - \lambda = \gamma-I_\tau(\bar{1} - \lambda) = \gamma-I_\tau(\gamma-I_\tau(\bar{1} - \lambda), r) \leq \gamma-I_\tau(\gamma-C_\tau(\bar{1} - \lambda), r)$. Thus, $\bar{1} - \lambda \leq \gamma-I_\tau(\gamma-C_\tau(\bar{1} - \lambda), r)$ and hence, $\bar{1} - \lambda \in \pi(\tau, r)$. \square

Theorem 3.14. *Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\lambda \in I^X$. If there exists an r -fuzzy γ -open set μ such that $\mu \leq \lambda \leq \gamma-C_\tau(\mu)$, then $\lambda \in \sigma(\tau, r)$.*

Proof. Let $\mu \leq \lambda \leq \gamma-C_\tau(\mu, r)$ for an r -fuzzy γ -open set μ . Since $\mu \leq \lambda$, then $\mu \leq \gamma-I_\tau(\lambda, r)$. This implies $\gamma-C_\tau(\mu, r) \leq \gamma-C_\tau(\gamma-I_\tau(\lambda, r), r)$ and $\lambda \leq \gamma-C_\tau(\gamma-I_\tau(\lambda, r), r)$. Thus, $\lambda \in \sigma(\tau, r)$. \square

Theorem 3.15. *Let (X, τ, γ) be a smooth fuzzy operation-topological space and $\delta \in I^X$. If $\delta \in \beta(\tau, r)$, then $\delta = \lambda \wedge \mu$, where $\lambda \in \sigma(\tau, r)$ and μ is r -fuzzy γ -dense.*

Proof. Let $\delta \in \beta(\tau, r)$. Then $\delta \leq \gamma-C_\tau(\gamma-I_\tau(\gamma-C_\tau(\delta, r), r), r)$. Then we have $\gamma-C_\tau(\delta, r) \leq \gamma-C_\tau(\gamma-C_\tau(\gamma-I_\tau(\gamma-C_\tau(\delta, r), r), r), r) = \gamma-C_\tau(\gamma-I_\tau(\gamma-C_\tau(\delta, r), r), r)$. Moreover, $\gamma-I_\tau(\gamma-C_\tau(\delta, r), r) \leq \gamma-C_\tau(\delta, r)$ and then $\gamma-C_\tau(\gamma-I_\tau(\gamma-C_\tau(\delta, r), r), r) \leq \gamma-C_\tau(\gamma-C_\tau(\delta, r), r) = \gamma-C_\tau(\delta, r)$. We have $\gamma-C_\tau(\delta, r) = \gamma-C_\tau(\gamma-I_\tau(\gamma-C_\tau(\delta, r), r), r)$. This implies that $\lambda = \gamma-C_\tau(\delta, r) \in \sigma(\tau, r)$. If we take $\mu = \delta \vee (1 - \gamma-C_\tau(\delta, r))$, then μ is r -fuzzy γ -dense and $\delta = \lambda \wedge \mu$. \square

Theorem 3.16. *For a smooth fuzzy operation-topological space (X, τ, γ) , the following properties are equivalent:*

- (1) $\lambda \in \beta(\tau, r)$,
- (2) there exists $\mu \in \pi(\tau, r)$ such that $\mu \leq \gamma-C_\tau(\lambda, r) \leq \gamma-C_\tau(\mu, r)$,
- (3) $\gamma-C_\tau(\lambda, r) \in rc(\tau, r)$.

Proof. (1) \Rightarrow (2): Let $\lambda \in \beta(\tau, r)$. We have $\lambda \leq \gamma-C_\tau(\gamma-I_\tau(\gamma-C_\tau(\lambda, r), r), r)$. Put $\lambda = \gamma-I_\tau(\gamma-C_\tau(\lambda, r), r)$. Then $\lambda \in \pi(\tau, r)$. Since $\lambda = \gamma-I_\tau(\gamma-C_\tau(\lambda, r), r) \leq \gamma-C_\tau(\lambda, r)$ and put $\lambda \leq \gamma-C_\tau(\gamma-I_\tau(\gamma-C_\tau(\lambda, r), r), r)$, then $\mu \leq \gamma-C_\tau(\lambda, r)$ and $\lambda \leq \gamma-C_\tau(\mu, r)$. By Theorem 2.10 (4), $\gamma-C_\tau(\lambda, r) \leq \gamma-C_\tau(\gamma-C_\tau(\mu, r), r) = \gamma-C_\tau(\mu, r)$. Hence $\mu \leq \gamma-C_\tau(\lambda, r) \leq \gamma-C_\tau(\mu, r)$.

(2) \Rightarrow (3): Let $\mu \in \pi(\tau, r)$ such that $\mu \leq \gamma\text{-}C_\tau(\lambda, r) \leq \gamma\text{-}C_\tau(\mu, r)$. Then $\mu \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\mu, r), r)$ and $\gamma\text{-}C_\tau(\mu, r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\mu, r), r), r)$. It follows that $\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\mu, r), r), r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r)$. Since $\gamma\text{-}C_\tau(\lambda, r) \leq \gamma\text{-}C_\tau(\mu, r)$, $\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r) \leq \gamma\text{-}C_\tau(\mu, r)$ and then $\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r) \leq \gamma\text{-}C_\tau(\gamma\text{-}C_\tau(\mu, r), r)$. Since $\mu \leq \gamma\text{-}C_\tau(\lambda, r)$, then $\gamma\text{-}C_\tau(\mu, r) \leq \gamma\text{-}C_\tau(\gamma\text{-}C_\tau(\lambda, r), r)$. This implies that $\gamma\text{-}C_\tau(\mu, r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\mu, r), r), r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r) \leq \gamma\text{-}C_\tau(\mu, r) \leq \gamma\text{-}C_\tau(\lambda, r) \leq \gamma\text{-}C_\tau(\mu, r)$, $\gamma\text{-}C_\tau(\lambda, r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\mu, r), r), r)$. Hence $\gamma\text{-}C_\tau(\lambda, r) \in rc(\tau, r)$.

(3) \Rightarrow (1). Let $\gamma\text{-}C_\tau(\lambda, r) \in rc(\tau, r)$. We have $\gamma\text{-}C_\tau(\lambda, r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r)$. Since $\lambda \leq \gamma\text{-}C_\tau(\lambda, r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r)$, then $\lambda \in \beta(\tau, r)$. \square

Theorem 3.17. *Let (X, τ, γ) be a smooth fuzzy operation-topological space. If $\lambda \leq \mu \leq \gamma\text{-}C_\tau(\lambda, r)$ and $\lambda \in \beta(\tau, r)$, then $\mu \in \beta(\tau, r)$.*

Proof. Let $\lambda \leq \mu \leq \gamma\text{-}C_\tau(\lambda, r)$ and $\lambda \in \beta(\tau, r)$. Then we have $\lambda \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r)$. Since $\mu \leq \gamma\text{-}C_\tau(\lambda, r)$, we have $\mu \leq \gamma\text{-}C_\tau(\lambda, r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r) \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\mu, r), r), r)$. Thus, $\mu \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\mu, r), r), r)$ and hence $\mu \in \beta(\tau, r)$. \square

Theorem 3.18. *For a smooth fuzzy operation-topological space (X, τ, γ) , the following properties are equivalent:*

- (1) $\lambda \in rc(\tau, r)$,
- (2) $\bar{1} - \lambda \in \pi(\tau, r)$ and $\lambda \in \sigma(\tau, r)$,
- (3) $\bar{1} - \lambda \in \alpha(\tau, r)$ and $\lambda \in \beta(\tau, r)$.

Proof. (1) \Rightarrow (2): Let $\lambda \in rc(\tau, r)$. Then $\lambda = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r)$ and $\bar{1} - \lambda \in \pi(\tau, r)$ and $\lambda \in \sigma(\tau, r)$.

(2) \Rightarrow (3): $\bar{1} - \lambda \in \pi(\tau, r)$ and $\lambda \in \sigma(\tau, r)$. Then $\bar{1} - \lambda \leq \gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\bar{1} - \lambda, r)$ and $\lambda \leq \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r)$. Then $\gamma\text{-}C_\tau(\lambda, r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r)$ and hence $\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r), r), r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r) \leq \lambda$. This shows that $\bar{1} - \lambda \in \alpha(\tau, r)$. Since $\sigma(\tau, r) \leq \beta(\tau, r)$, it is obvious that $\lambda \in \beta(\tau, r)$.

(3) \Rightarrow (1): $\bar{1} - \lambda \in \alpha(\tau, r)$ and $\lambda \in \beta(\tau, r)$. Then we have $\lambda = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r)$ and $\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\lambda, r), r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r), r), r) = \gamma\text{-}C_\tau(\gamma\text{-}I_\tau(\gamma\text{-}C_\tau(\lambda, r), r), r) = \lambda$. Therefore, $\lambda \in rc(\tau, r)$. \square

CONFLICT OF INTERESTS

The author(s) declare that there is no conflict of interests.

REFERENCES

- [1] C. L. Chang, Fuzzy topological spaces, J. Math. Anal. Appl. 24 (1968), 182-190.
- [2] M. Dimirci, Neighborhood structure of smooth topological spaces, Fuzzy Sets Syst. 92 (1997), 123-128.
- [3] G. Durgadevi and P. Gomathi Sundari, Fuzzy γ -open sets, (submitted).
- [4] G. Durgadevi, P. Gomathi Sundari and N. Rajesh, Fuzzy regular open sets via operations, J. Math. Comput. Sci. 11 (2021), 5056-5062.
- [5] J. Gutierrez Garcia and S. E. Rodabaugh, Order-theoretic, topological, categorical re-redundancies of interval-valued sets, grey sets, vague sets, interval-valued; intuitionistic sets, intuitionistic fuzzy sets and topologies, Fuzzy Sets Syst. 156 (2005), 445-484.
- [6] J. A. Goguen, The Fuzzy Tychonoff theorem, J. Math. Anal. Appl. 43 (1993), 734-742.
- [7] T. Kubiak, On fuzzy topologies, Ph. D. Thesis, A. Mickiewicz, Poznan, 1985.
- [8] E. P. Lee and Y. B. Im, Mated fuzzy topological spaces, J. Fuzzy Logic Intell. Syst. 11 (2001), 161-165.
- [9] P. P. Ming and L. Y. Ming, Fuzzy Topology. I. Neighborhood Structure of a Fuzzy Point and Moore-Smith Convergence, J. Math. Anal. Appl. 76 (1980), 571-599.
- [10] A. P. Sstak, On a fuzzy topological structure, Suppl. Rend. Circ. Matem. Palerms ser II, 11 (1985), 89-103.